BOX 1: LK1006

PART NUMBER DESCRIPTION

150201-101 Front Crossmember
150201-102 Rear Crossmember
LK1008&-1 Accessory Kit

150201-107F Front Compression Strut Bracket
150201-107R Rear Compression Strut Bracket
150201-115 Reinforcement Plate
150201-211R Brake Line Bracket Passenger
150201-211L Brake Line Bracket Drivers
150201-150 Tie Rod End
150201-100-HW Bushing Hardware Kit

LK1006-777 Hardware Kit
150201A-777 Hardware Pack: Front/Rear Crossmember
110218 M16 x 2 - 120mm Bolt
110281 M16 x 2 - 140mm Bolt
110219 M16 Flat Washer
110242 M16 x 2 Nylock Nut

150201B-T7T7 Hardware Pack: CV Axle
110285 M10 x1.5 - 60mm Bolt

150201C-777 Hardware Pack: Replacement Strut Bolts
110237 M10 x 1.5 - 70mm Bolt
110238 M10 1.50 Nylock Mut
110235 M10 Washer

150201D-777 Hardware Pack: Differential Drop
110283 M14 x 2 - 45mm Bolt
110222 M14 x 2 Nylock Nut
110223 M14 Washer
110282 M12 x 1.75 - 45mmBolt
110243 M12 x 1.75 Nylock Nut
110228 M12 Washer

150201E-7T77 Hardware Pack: Compression Arm / Bracket
110227 M12 x 1.75 - 110mm Bolt
110228 M12 Washer
110243 M12 x 1.75 Nylock Nut
110225 M12 x 1.75 - 30mm Bolt

CQUANTITY

— —

U e = T L T S e T ST T R SR

[ = TR S N

b RORRY R =



BOX 1: LK1006 Continued

PART NUMBER DESCRIPTION

150201F-777 Hardware Pack: Skid Plate Hardware
110226 M12 x 1.75 -100mm Bolt
110243 M12 x 1.75 Nylock Nut
110228 M12 Washer
110225 M12 x 1.75 - 30mm Bolt

150201G-777 Hardware Pack: U-Bolt
110240 9/16 Nylock Nut
110241 9/16” Washer

150201H-777 Hardware Pack: Brakeline Relocation
110286 M6x1.0 - 25mm
110235 M6 x 1.0 Nylock Nut
110117 M6 Washer

BOX 2: LK1007

150201-201 Lift Block

150201-105 Passenger Side Differential Drop
150201-108 Skid Plate

150201-204 Wheel Spacer

150201-104 Drivers Side Differential Drop
150201-202 U-Bolt

150201-112 Lower control Amm Supports
150201-106 Compression Strut Aim
150201-209 CV Axe! Spacer 1.25"

BOX 3: LK2002

(Cast Steel Control Arms)

160201-103D Driver Side Lifting Knuckle
150201-103P Passenger Side Lifting Knuckle

QUANTITY

- ) = =3 -

(8]

(o=

NN AE N2 2N



	Screenshot 2022-01-10 133848.pdf
	Screenshot 2022-01-10 133941.pdf

